2N 2SR
M HHS A (2TT )
Sel: o2y (B9 ®R)
= - - HE!
SA-EB B (BN) - NRAY - HES Ol & o8 il HDE2
o220t 11,825,967 14,376,580 AN2,550,613
2 2,659,298
& 2,014,000
| 118,078
= 119,251
< 842,600
= 6,072,740
HY2IZH (2322 ) 167,548 174,129 A 6,581
o1 2| 89,072 94,499 N5, 427
ol 24| 66,361 73,075 NB,714
101 21 A | 62,161 68,875 NB,714
01 8= 58,244 65,971 NT,727
OAZtIZ2R24g HHZ(19Y) 20,102
— 5= 11,002 x 1 «10A| 2k 128 1,321
— 6= 9,383 *8H *10A| 2+ 12& 9,008
—-7= 8,476 x7H x10A| 2t x12& 7,120
— 8= 7,609& x2H x10A| 2t x12& 1,827
- 9= 6,878 *1H »10Al 2tx 122 826
Oxz2f=¢ 8,476 x15H x25A| 2+ 12& 38,142
02 JIEF A E == 3,917 2,904 1,013
OAZe 2R+g(HAR)
7,2523 * 1B x10A| 2tx12& 871
Oxl 22=¢ 7,252 1H *35A1 2tx 128 3,046
203 &R =T Y| 4,200 4,200 0
04 EAN2ZHR2FEHI 4,200 4,200 0
ORNM2EAHRFAHI 350,000& x12& 4,200
S A el 22,711 21,424 1,287
101 1A Hl 22,711 21,424 1,287
01 8= 18,359 17,276 1,083
Oxn2f=¢ 8,476& x4 x30A| 2tx12& 12,206
Oxgda22s4Y 61,5303 «2H 50! 6,153
02 JIEH R P & 4,352 4,148 204
OxaZa(1g) 4,352
—AN2LZR2SL(FUHZ)
7,2523 x 1B x10A| 2tx12& 871
—XZU2RE 7,252@ *1H *40Al 2t+ 128 3,481
|22y 78,476 79,630 A 1,154
Jl2 &l 78,476 79,630 A1,154
201 B2 3 | 49,066 50,630 A 1,564
01 At 22|l 47,405 49,055 A 1,650
OLer==ZHl SHN & 21,715
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fAH: S2st22 1
M HHS A (2TT )
el =P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsdA2 A 60,0003 x1E » 115 6,900
Ot 9 & 18,790
02 =224l 1,661 1,575 86
OAMEH tE AZHI
1,384 %20 *5A12t+120L 1,661
202 Od4dl 29,410 28,100 1,310
01 = LH o4 1l 29,410 28,100 1,310
O3l (2tLH) 20,230
O=2udogl(22) 9,180
=N 2 2BAY = 925,553 877,609 47,944
J| 18,146
< 2,335
s 905,072
=N =sda2 476,544 546,621 AT70,077
HAEX QM A 209,130 209,730 A 600
201 Let24d] 7,130 7,730 A 600
01 At 22l 5,040 7,730 A 2,690
OHEZH2M HAFE S EHI
7,000 «240H «3 5,040
03 A2 S HI 2,090 0 2,090
OHAEHQN EE EHIIE(8USE)
110,000& = 100K 1,100
OBHEEHUA E2 IS (HA)
55,000 180K 990
307 21201 A 202,000 202,000 0
04 QI2tSHALE & 202,000 202,000 0
OYdZ M ALK 195,000
OHEELHN A S0=4 7,000
HH=H 135,617 181,575 A 45,958
101 @14 dl 3,657 3,451 206
04 JI2ZtHZ22HEE =+ 3,657 3,451 206
OdALE & =8 ZHIDI 60,3303 «6H «10< 3,620
OdMEE= 3,620,000& 1% 37
201 L4l 8,460 23,560 A 15,100
01 At 22l 2,520 23,560 A 21,040
OWg=H =& S &H| 7,000 *8H 202 1,120
OULEH FXRH U AR S|
7,000 «100H «2& 1,400
03 &AL S HI 5,940 0 5,940
OUd=H EE EHIIE(EUE)
110, 000 50K 550
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2N
X ZH -
L= B

el

2522
=R YL BBAY FA
SV EEEE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OULEEM EL2 EHHES(AAIT)
55,000& = 180K 990
Ogxz 4,400
— @ALE HHl ZHI(Z3Y )
440,0003 x1CH+5L 2,200
— ALY Y ZH(EX)
440,000 ~1CH+5E 2,200
202 4l 1,500 1,500 0
01 = LH 4 HI 1,500 1,500 0
OWE =N H&X A& 60,0003 x5H x5 1,500
307 glz2tol & 107,000 130,000 A 23,000
04 QIZHSHALE = 107,000 130,000 A 23,000
OWE=H A K& 100,000
OWg=nH 4t =4 7,000
401 A& HI K 201 I 15,000 15,000 0
01 A& HI 15,000 15,000 0
OZOIAFAZ AlE X 2 EHSAHYI 15,000
aALSHE 131,797 165,316 A 23,519
101 @124 dl 12,797 12,074 723
04 JIZHHZ2XREES 12,797 12,074 723
O 4 &Ae 2 X SHIDI
60,330& x10H +21 12,670
OHtTHERE Z 12,670,000& 1% 127
201 Let2d] 12,000 12,600 A 600
01 At 22l 9,800 12,600 A 2,800
O&AMat=M =& =S2dl 7,0008 20«10 1,400
OSLAL 2Z X7 FXUHRE Sl
7,000 1208 «10 8,400
03 A2 Z Hl 2,200 0 2,200
OUMEEM E2 EdE(81LE)
110,000& = 100K 1,100
OUMEEM E2 EcHIS(AAIT)
55,000& »200H 1,100
307 glz2tol & 107,000 130,000 223,000
04 QIZHSHALE & 107,000 130,000 A23,000
O 4 &AE=M 100,000
OdME=MN dt 24 7,000
SE 2 AY 184,540 35,440 149,100
SEZZASSY 184,540 35,440 149,100
201 Let24d] 2,500 2,000 500
03 & Ar2 I 2,500 2,000 500
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2N

=]

e
N A2ATRO O
SRl 22X ALY (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
[ 5,000
- 2,741,000
B =2 WX F=HEL ALY 500,000 400,000 100,000
401 AlEHIZL 2 0HY| 500,000 400,000 100,000
01 Al&H| 496,425 397,140 99,285
QU XZTTHX FHEBIAIY 496,425
03 Al&E 201 Y| 3,575 2,860 715
OBHEW F=ZCHX F=HZEH ALY
496,425,000 *x0.72% 3,575
St 0I8ALS 10,000 10,000 0
& 5,000
= 5,000
402 SI2vXHE0| ™ 10,000 10,000 0
= 5,000
iy 5,000
01 812t X 10,000 10,000 0
Ooler SHEA 2 =AY 10,000
& 5,000
= 5,000
OtctLtE D& AE 1,000,000 0 1,000,000
2 500,000
= 500,000
402 BI2H X201 M 1,000,000 0 1,000,000
2 500,000
= 500,000
01 QI2t X2 X 1,000,000 0 1,000,000
OO0tetLHEIEX D182 HE ALY 1,000,000
2 500,000
= 500,000
T =usal X4 1,000,000 300,000 700,000
2 514,000
o 486,000
402 SI2vXHE0| & 1,000,000 0 1,000,000
2 514,000
= 486,000
01 Q228 X 1,000,000 0 1,000,000
OFFN =& ZHAS 1,000,000
2 514,000
= 486,000
ZLAEES HE S 250,000 210,000 40,000
401 Al HI L 2 0HHI 200,000 210,000 A 10,000
01 Al&H| 200,000 210,000 A 10,000
O3 AIE2 HEL=ZAH 50,000
OonlegXl EXgH & 50,000
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2N 2SR
M IR Y
Chelr 262X HEALY (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odiet==2d d3a &M Y BT At 20,000
Os8gys FIE AXSA 60,000
O Si=2FHE Kot SE I A 20,000
402 RI2HXt20l ™ 50,000 0 50,000
01 IZEAI 22X 50,000 0 50,000
OJISw =wdA I8 AE 50,000
JtOt0l ol ==& FAst MY 2,000,000 500,000 1,500,000
& 1,000,000
[ia 1,000,000
401 Al HI K 201 I 2,000,000 500,000 1,500,000
= 1,000,000
s 1,000,000
01 A& HI 1,992,825 496,425 1,496,400
OJt0t0l ol == Z FASIAIY 1,992,825
& 992,825
[ia 1,000,000
03 A& =2 THHI 7,175 3,575 3,600
OJt0tal ol ==& HASHALY
1,992,825,000& *0. 36% 7,175
= 7,175
22X FHEH ALY 931,427 898,735 32,692
& 94,185
< 45,100
i 792,142
2Z X 2el 635,842 709,475 AT3,633
101 124 dl 177,542 158,107 19,435
04 JI2ZHHZ2XEE+ 177,542 158,107 19,435
OsLAr2Z X+ 22l 42,780 x1H » 180 7,701
Osd M= =HIE, HME, =x&2L
42,7802 x1H 180 7,701
OYHHE =Xl 22l 42,7803 «1H 90 3,851
O=sH0ZsSd X FXE F=eae
42,7803 1«90 3,851
OYgfietez2 22 FHFe
42,7803 «1H 90 3,851
OBEpiotEE A2 22l
42,7803 1«90 3,851
OZZX AMAEZ AT
42,7803 x25H «252 33 80,213
OoZ&X =& & W=7 =g
60,3303 * 10 «252 33| 45,248
Odfl+==Z 22 42,780 *1H » 120 5,134
OC4liEg = 161,401,000& *10% 16,141
201 £B-2dH| 174,097 173,908 189
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fAH: S2st22 1
HE: TR N
Sl 22X FHEHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 116,843 155,500 A 38,657
01 =4l 116,843 155,500 A 38,657
OSL AR & 2&X &0 & 5,000
OoZ2&X HEZX 52 #
4003 *72,619=+323] 87,143
Oz 2l =<4 2 10,000& *200H »43| 8,000
O2ZX &2 g & s 2L 3,000
Oz 2 %A 2 200,000 =304 6,000
O22d dZE= M= ¢
,000& 300 =33l 2,700
OozZX&el NN 2 5,000
301 et a = 1,260 1,260 0
10 HALAHI 242 1,260 1,260 0
OJtOtOlsH+8% 2XER8 24
7,000 «3H 602 1,260
401 Al HIZ 201 8] 153,000 218,000 A 65,000
01 Al gl 153,000 218,000 65,000
OSZ AT 22X S &I L ZEAME =4 10,000
OY#HMERE =T HA 2+F3 HMelAld =4 20,000
OEZ AT 22X 233 XMelAld = 10,000
OZZX & RAUE(18MHLA) 10,000
O=H0IZd SS3TE XA ANEAZ S A 10,000
Ot HAE SHEA NMBHIMEAES
At 5,000
Oks%d, 244 NIS8% U=R 2= 20,000
OHMEnz=ccHil F32 FH 22 4
XS At 10,000
OsdM=X=H3Zd & MY 233 =4 3
At 40,000
OSL AR SHE &0 24 3,000
O2ZX =32 SHOUW &X 5,000
OLSTAZ S8 =3 A 10,000
405 TtobFH S| 10,400 0 10,400
01 ML SEF SH| 10,400 0 10,400
OZ&X el sE&CI2AI 9,500,000 «1CH 9,500
Ozt 2el =2l 450,000& =204 900
ZZ22MY 195,585 159,260 36,325
&2 94,185
< 15,100
s 86,300
101 @144 Hl 193,085 156,760 36,325
&2 91,685
S 15,100
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X{ XH -
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Id]
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g

4
e
0 =

R M

R OF fob

A
o o
10

el

=2
>
it
[
£
o
H

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

86,300

04 JI2ZtHZ22 a2+ 193,085 156,760 36,325
OS2 ZAH=A 193,085
91,685

15,100
86,300

M A

202 Oddl 1,500 1,000 500
1,500

AL

01 =LHOI LI 1,500 1,000 500
OSEZZMNGE == 1,500

1,500

AL

206 M= Hl 1,000 0 1,000
1,000

AL

01 = dl 1,000 0 1,000
O3SZZAMNEFN HESFY 1,000
1,000

AL

==& BoAIE i 100,000 30,000 70,000
30,000
70,000

Mo

401 AIEHIZ 2 CHYI 100,000 30,000 70,000

30,000
70,000

M

01 A& HI 100,000 30,000 70,000

Otfl+==& EAANLFH| 100,000
30,000
70,000

M

HdS2etR Ao 2e|digt 25 1,072,747 1,576,845 A 504,098
459,298
25,066
221,471
366,912

A HAD W

bRl MAHE A

0l
H
1y

72,326 74,500 A2, 174
25,963
10,800
35,563

HO
tol

HH A

SAIMNBLREES M 72,326 74,500 N2,174
25,963
10,800
35,563

HH A

307 21201 & 72,326 74,500 A2, 174
25,963
10,800
35,563

MW

02 pIZtANE X 72,326 74,500 N2,174
O=A=0r0 =2 ALRI & AL 51,926
25,963

H
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fAH: S2st22 1
M MNSIstHA 22008 2=
el 2R HAHE dSEE (9 ® =)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
o 25,963
OFE =3 s K& 18,000
— 28T 800,000 «1H 128 9,600
< 4,800
i 4,800
— st 100,000& »2H 122 2,400
< 1,200
s 1,200
— E2Z3 500,000 1 128 6,000
< 3,000
e 3,000
OZRE23M SHBAMXNZ(RE=) 2,400
= 1,800
[ia 600
tRAAIES BE 2t 1,000,421 1,502,345 A501,924
= 433,335
= 25,066
< 210,671
s 331,349
2= ESLE2SESH 50,132 106, 132 256,000
& 25,066
[ia 25,066
307 21201 A 50,132 106, 132 256,000
& 25,066
[ia 25,066
03 At HHEXS 50,132 80,132 230,000
OXg=2st& At | XI & 30,132
& 15,066
s 15,066
OXNLZstA A =] 20,000
& 10,000
[ia 10,000
St 243l (XA 61,400 5,662 55,738
201 L2l 2,400 2,400 0
01 At 22l 1,200 1,200 0
O=x=2sM 38 & 2243) 74
30,000& 407K 1,200
02 222 1,200 1,200 0
O=s M HI|gtd==2 1,200
207 51 OH &l 24,000 0 24,000
01 284 24,000 0 24,000
OEXNE 2ot PG HeldJE &d
4,000,000 *6IH 2~ 24,000
401 AIEHI L 20 35,000 0 35,000
01 A& Hl 35,000 0 35,000
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2N 2SBRD
M MNSIstHA 22008 2=
ool BeFAALEY E&E2e CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUMANE =XHE ZHIA 35,000
INHXNE 2 E=+=FHl 553,571 738,506 A 184,935
= 367,500
= 40,821
= 145,250
401 AIEHI L 2 CHYI 303,571 88,506 215,065
= 212,500
< 27,321
[ia 63,750
01 A& tl 301,501 87,971 213,530
Ogda =80l EFH| 148,930
= 104,251
< 13,404
e 31,275
Ot MBSE B=HH| 139,000
= 97,300
< 12,510
s 29,190
OHetAMNSE =I10l¥ Dl 13,571
= 9,500
< 1,221
e 2,850
03 Al S THHI 2,070 535 1,535
YAT WOl S2FY| 1,070
=2 749
= 9%
s 225
OHZ MBS 2=FH| 1,000
= 700
< 90
e 210
402 RI2EX=20l A 250,000 650,000 A 400,000
= 155,000
S 13,500
s 81,500
01 RIZEAI2E X 250,000 650,000 A 400,000
O22 AL SZAINHIASHA EFH| 160,000
= 105,000
< 13,500
[ia 31,500
OJ2W MU2ZA B3| 100,000
= 50,000
e 50,000
2ot THEHZTHAIAE 15,500 15,500 0
= 10,850
s 4,650
201 Zer24] 15,500 15,500 0
= 10,850
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S aA2el XA
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EX: S22
HH: Sz L1
Sel: HERSS LBFY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 99,932
= 568,694
= 1,100,066
SFEESIo d=54 3,803,116 3,076,578 726,538
= 2,200,000
J| 99,932
& 568,694
= 934,490
NEZ230= A XS 254 537 232,978 21,559
201 YEr2 | 11,537 12,778 A 1,241
02 Z2=2=24%4| 5,537 10,878 N5, 341
O3322 % HA 2,124
— &k 29 100,000& x12& 1,200
~ U2 RAUFHBY 242
77,000 x12& 924
O¢e & dl 1,595
— &F im) 1,3842%0.8¢ *8A|2t*x180L 1,595
OA & &Hl XYl 1,818
— == A 5,000& x165m 825
— ez AL3 2 3,000 x331m’ 993
03 Al HH| 6,000 1,000 5,000
OxE ZotdHAN E2dIHE S M=
50,000 2004 & 1,000
L2 M HIE D 5,000
202 044l 1,800 1,800 0
01 2Ll 1,800 1,800 0
OYE=29H & dgoEx0=s=sHM &0
60,000& 3 x5 900
O&Al, 2 S S =HAI =&
60,000& 3 x5 900
301 LBt A 2,000 6,200 £4,200
10 HAFAHI B a2 2,000 2,000 0
O2U=E A SHE 4 1,000,000 =2t 2,000
306 52 7,000 7,000 0
01 52 7,000 7,000 0
O SW&EDZ 7,000
307 QI2t0| ™ 228,200 201,200 27,000
02 QIZ2tA A X 98,200 136, 200 A 38,000
Ogn AFM X 4,000,000& *23| 8,000
Ogasn MAMA X 6,000
Os8Hs2 54 XA 3,000,000 x115HA 33,000
O M ZAXE 800,000 x2% x12& 19,200
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EX: S22
HH: Sz L1
Ce: SFERSIo d=2sH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZ23Ht S M ALY 135,579
Jl 99,932
= 10,694
= 24,953
ZN0ISEE/]AHE 3,300,000 2,700,000 600,000
= 2,200,000
= 550,000
= 550,000
402 SI2FXHE0| ™ 3,300,000 2,700,000 600,000
= 2,200,000
= 550,000
= 550,000
01 812t X 3,300,000 2,700,000 600,000
O=ZHNioISEedAHg 3,300,000
= 2,200,000
& 550,000
= 550,000
2248 HAF J|g& X4 100,000 0 100,000
402 SI2F X201 & 100,000 0 100,000
01 QI2t X2 X 100,000 0 100,000
OZ22=248 A D@ =4 100,000
TAER2H 165,576 203,684 A 38,108
S NZAIE 22 X & 65,197 93,827 A 28,630
101 Q124 H] 1,383 1,305 78
04 JI2ZtHIZ22NEE S 1,383 1,305 78
OEAMEZ=EH EZHAHEY
42 780 x2H x4 x4 3| 1,369
OdEE = 1,369,000& *1% 14
201 et 58,814 56,022 2,792
01 AP 2t 2] d| 5,232 6,192 A 960
Ogttf2y| 3,216
— S22 MYIIEE, StEIRY
20,000& ~12& 240
—AdLJ|2e 22872 30,0002 *3H*12& 1,080
—HEE E32s Q! 20,000& *30%Z 600
—CAE2Y Y 7Y
6,000& x10JH ~12& 720
—~CAHB2Y AU HEY 2
8,000 6l x12& 576
o2&l 2,016
—0f2F A OIS X 22
7,000 x1Hx24L % 12& 2,016
02 B232%H| 53,582 49,830 3,752
OZ2Z22=2 % MAl 25,438
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2AMd: 2322
M 2ooiz=2s SN2
oelr CABeY (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—dIIAEE 1,200,000& 122 14,400
—&ot=EANER 240,000 128 2,880
—ANEE SZNERES 70,000& *23] 140
—HSI JIAALD HHAMASBEZ
110,000& =13 110
—ACIESTVAIEZ 9,000&+12& 108
—ZFdY T 3| 100, 000& 18] 100
— st M 2E 3l 200,000& =13l 200
— IS A2E 3 300,000& 12 300
— & et A ALY 100,000 128 1,200
— JtA oM 2 AtHI 100, 000& 12 100
—2hHE 800,000& =13l 800
—A2YFLEI =2 1,500,000& *13] 1,500
—UXNENZAHYAMEZ 300,000 122 3,600
o9 = dl 22,144
—SEMd2 dgdl 1,384 %802 *200< 22,144
OEAMZ H&FEH KXY 150,000, 0002 *4% 6,000
401 A EHI L 2O 5,000 36,500 ~31,500
01 A& HI 5,000 36,500 A 31,500
OZEEZN2 NERAES 5,000
T Metel 61,100 62,100 21,000
201 LBt2d| 1,100 1,100 0
01 At 22l 1,100 1,100 0
O el 1,100
— SN2 EEPRL(EANESHOIZ5E) 1,000
—CSAEAYNHRETRY 1,000& * 100K 100
405 TtHabF S| 60,000 61,000 A 1,000
02 TN 60,000 61,000 A 1,000
OZEENM2 &EA 7Y 10,000& +3,000 30,000
OXSEMZ MAEN 7
10,0003 500 *40H A~ 20,000
OAE24 ovo+ e 20,000& 2504 5,000
N2 DV Y 20,000 2504 5,000
SN2 00X 22 10,854 14,144 A 3,290
201 LEr2 Y| 10,374 7,404 2,970
01 At 22l 4,374 3,404 970
Oget==EH| 4,374
— SN2 BNRSELE 864
S 12,0003 x4 2+ 128 576
INEE N 8,000& x32+12& 288

- 274 -




2AMd: 2322
M 2ooiz=2s SN2
ool TAESY CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
EEEEERERET
12,000& x10&* 128 1,440
—HESAMRA e #+Y 100,000& 5 500
—HESMUY 9 HA
55,0003 *20 2 110
—HESAMLA ZAZ 45,000 «4Al 2tx5 900
—SMEEY LES MA 700& x800H 560
03 &AH2 Z I 6,000 4,000 2,000
O=A2stuad=2d 2,000,000& x33l 6,000
202 O4dl 480 480 0
01 = LH 4 Hi 480 480 0
O&=IE M2l &0t 60,000 x2H 42 480
NeoAHda =4 2 XA 28,425 33,613 25,188
101 124 dl 5,601 7,796 A2,195
4 JI12ZtHZ22XREES 5,601 7,796 22,195
Os5Y 224 40,4003 18 82 «12& 3,879
oX2N22dg 40,4003 «1H +302 1,212
C4liEg = 5,091,000& x10% 510
201 Let24E] 22,824 22,817 7
01 At 22l 5,544 5,537 7
Ooger2g| 5,544
—ARES FY(EZS . KYIJISES)
100, 000& *62| *30H A 1,800
—stEa 2el & SEI 7Y
100, 000& *62| *30H A 1,800
—ges YIIAYES 7Y
10,0003 *3Z »12& 300 & 1,080
— &0l &2 10,0003 » 122 «304 A& 360
—HOae=z 21,0003 x 128 +200 & 504
02 =224l 17,280 17,280 0
o333 & HA 17,280
—dIIAEE 250,000 #1288 *304 & 9,000
—=CAEZ 30,0003 128 «30H & 1,080
—EHAAMNER 100,000& 128 *301 & 3,600
~ 2UAYIBYA 448
100,000& 122 *304 & 3,600
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